Multiplicar por potencias de diez (nimero faltante)

Nombre: Fecha: Puntuacion:
4,856 % = 48.56 10, 199 x = 10199
5,976 x =597.6 4,179 x =41.79
10, 824 x = 1082.4 4,305 x =430.5
7, 996 X =799.6 4, 829 % = 48.29
6, 375 x = 6375 10, 34 x = 10340
6, 322 X =632.2 8, 94 x = 8940
3,713 x =371.3 6, 773 % = 6773
7,517 x =751.7 8, 876 X = 88.76
9, 859 X = 98.59 8, 714 x = &714
2,365 % =236.5 6, 812 % = 68.12
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Multiplicar por potencias de diez (nimero faltante)

Nombre: Fecha: Puntuacion:
4,856 x 10 =48.56 10, 199 x 1000 = 10199
5,976 x 100 = 597.6 4,179 x 10 =41.79
10, 824 x 100 = 1082.4 4,305 x 100 = 430.5
7,996 x 100 = 799.6 4,829 x 10 =48.29
6,375 x 1000 = 6375 10, 34 x 1000 = 10340
6,322 x 100 = 632.2 8,94 x 1000 = 8940
3,713 x 100 = 371.3 6,773 x 1000 = 6773
7,517 x 100 =751.7 8,876 x 10 = 88.76
9,859 x 10 = 98.59 8,714 x 1000 = 8714
2,365 x 100 = 236.5 6,812 x 10 = 68.12
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